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919 {9 9 RS (CHILD DEVELOPMENT AND PEDAGOGY)

fdsr : R g7 % g7 &7 & [ qag ST [[wey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

g

|

frfofag & @ aF-@ @ &=

s @t fadarel wd el & et

T 77T FAT R ?

(1) Fesm el @l & ge &
THENTT 1 ¥ Gerar &7 o

Q) ey omH Rem & =kl &
foepra @1 ST 3 R

) R da@ = & WE B
gmﬁaﬁﬁmaﬁmm
|

(4) fEem et = @ ot W
g T & § GeEdl HET 2

3 G Haad H A ARl 2

T el & 7

(1) WEds feias

(2) SAIYRMHS i

(3) GoIcH i

(4) TAEAES fei

frfofag & § #9911 @ &N

Aqra=rell i fadvael & w<d § TaT

HIT B ?

(1) AT Aqe=ietl & SMER & 2

(2) 9EIN ST Bl 2

(3) T & T AL YR T S
g@?%aﬁﬁaﬁr%ﬁwﬁ
|

(4) R Aeadt ¥ SqEA T2 el
e ST T B Aeh TS
& gl B
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[

o

Out of the following which one is

the wrong statement in context of

characteristics and nature of guidance ?

(1) Guidance is assisting the
individual to adjust himself.

(2) Guidance is promotion of the
growth of the individual in self

Guidance.
(3) Guidance is  helping the
individual  himself  through

others efforts only.
(4) Guidance is  assisting an
individual to find his place.

A type of thinking in which one's
interpret sensation with experience is
known as what ?

(1) Reflective thinking
(2) Perceptual thinking
(3) Creative thinking
(4) Critical thinking

Out of the following which one of
the statement is wrong in context of
characteristics of sentiments ?

(1) Emotions are the basis of
sentiments.

(2) Sentiments are innate.

(3) Sentiments get older with the
passage of time and they may
even change their state.

(4) Most of the animals do not
have sentiments because of they
do not have intellectual
comprehension.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

[A]

|

g

[~

|

frafofag & @ @9-8 & oo
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(1) fqaeg gwfd @l < &0

(2) g9 31 T IUBTH HIAT

(3) T

(4) X @ § e
Fr=ffad & & @9-91 T 9950 &)
s SRNG5S o o S O o
HaHHh  ARTE B Fa dlichd

(1) SEINTHS:  — RS —
SRS — IATEA

(2) SEINTHE —  ARERVIES —
YLUlIH — dcHlar

(3) ANPRTHE — EUNHE  —
RS —> I

(4) STAYNTHS — TROMED — Scded
—> STRPROTHS

T P Fer & “Afka e
AR fsia ygkdt & A &7 7

(1) 5T B (2) sifaae

(3) AT (4) Bed

frfofag & § f9-a1 fomg & Hed
T /g U B 7

(1) fawma & oftagdw ffeq &ar 2
(2) foemmETeT® Yot AIgEigAd B gl

(3) RPFwe e, ugEEd e @t
qa | el Heheqel Bl Bl

(4) @ URUFEAr T A @
SE BT R
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4. Which is the oldest method for the
study of behaviour ?
(1) Experimental method
(2) Clinical method
(3) Psycho-physical method
(4) Introspection method

g

Out of the following which one is
wrong characteristic of Delinquents ?
(1) Damaging school property

(2) Bullying and mockery

(3) Torturing

(4) Aesthanic in constitution

|®

Which one of the following is the

correct logical order of observational

learning process according Learning

Theory of Bandura ?

(1) Attentional — Retentional —
Motivational — Production

(2) Attentional — Motivational —
Retentional — Production

(3) Motivational — Attentional —
Retentional — Production

(4) Attentional — Retentional —
Production — Motivational

[~

Who stated that "Personality is the
sum total of innate and acquired
dispositions" ?
(1) Mortin Prince
(3) Valentine

(2) Allport
(4) Cattell

|

Which one of the following is false

statement in context of Development ?

(1) Development involves change.

(2) The development pattern is
unpredictable.

(3) Early development is more
critical than later development.

(4) Development is the product of
maturation and learning.
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9. WERFAl ARG &7 ¥ TEH q I
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(1) Qgraraean §
(2) TR TEEen |
(3) qd s |
(4) Frsiaeen |

10. Frefafad & & a-d91 & fawg-agg
gﬂ?aﬁrqﬁﬁwﬁaﬁ%aw%aaﬁ

(1) HeTTcae Sishand

(2) e

(3) &Yl TW /ARG AR AR
BB

(4) IRTd & T IR gHed

11. e & g J9WE & %Es A
foper® Tt fopam ® 7

(1) SNETH @ at+y
(2) el AGT T+
(3) @UH G

(4) TeiRan &t s

12. HH-FA dfoeT T & s
AU AT b o d BH gRE b
T T Ad 8 STMET ST Ol I
B &, d8 dAMHA & DA Em
FEA & 7

(1) JA™ 1w

(2) =T o0 R

(3) u1g 9 g wel &

(4) G F1 |
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Girls surpass boys physically in :

(1) Infancy

(2) Later childhood
(3) Early childhood
(4) Adolescence

Out of the following which one is
the subject matter for study of
Gestalt Psychologist ?

(1) Cognitive processes

(2) Consciousness

(3) Mental and behavioural
processes a wholes

(4) Modes and  problems of
existence

11. What did Freud consider the paternal

love of girls ?

(1) Oedipus complex
(2) Electra complex
(3) Narcissism

(4) Feeling of dependence

Sometimes the children of gifted
parents are born with less intelligence
than their parents or vice versa,
which Law of Heredity is called ?

(1) Law of Regression
(2) Law of Selective Traits

(3) Law of Maternal and Paternal
Lines

(4) Law of Chance
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(1) e &R e
(2) T Afsd @ § a
(3) T & 9y s @ qqes

(4) T AR # 9WE A g 9
TR AT

frfafed & § F-8 & S

‘%‘Hﬁﬂ Rrem” &) wed @& e
?

(1) Rl — afiR® awifa —
aHtee Rafa

(2) WRREld - aFfEE Rald -
IR et

(3) MRy — sfE v —
aHree Rafa

4) Rl — A@R Rafa -
SURIECRE NI

L e A G 0 | e S
% fagwer 7@ & ?

(1) STRRHFT

(2) e qRREfT F TR

(3) ITed &

(4) STIFRAT B HesTdl d Bl

frefafed & & $9-8 0% geremenar
B STEERT MST N Sl GiEAfedd
Tohiich § Siaquied 78 @l ® ?

(1) G STwaHiferar
(2) T qE Bl QI
(3) ¥

(4) GeheqaT feHToT
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Which of the following is the
characteristic of introverted thinking
type personality ?

(1) Realistic and Practical

(2) Absorbed in his own intellectual
pursuit

(3) Supports theory with facts

(4) Propagates his views
insistence and vehemence

with

Out of the following which is correct

sequence given by James Lange's

"Theory of Emotions" ?

(1) Situation — Bodily disturbance
— Mental state

(2) Situation — Mental state —
Bodily expressions

(3) Situation — Bodily expressions
— Mental state

(4) Situation — Mental state —
Bodily disturbance

Out of the following which one is
not the characteristic of insight ?

(1) Incidental

(2) Response in novel situation

(3) Habit strength

(4) Response spontaneity

Out of the following which one
is not the stage of creativity
prescribed by Gordon in his
Synectics Technique ?

(1) Detachment involvement

(2) Finding something similar

(3) Deferment

(4) Concept formation
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(1) Tt & X EF & dEd 2

(2) ST AFIGH BT B TERE FRA o

(3) 9gd THR H SMEHRAT @I §
M s SR 99 aeEs

T 8 2

(4) S FB IBA G a1 QT &8 4
TRHIN TG & U € 95 H=rE
P AMETHAT BNl B

?:Wwwa@ﬁﬁnwm
?

(1) 10 § 12 a9

(2) 69 12 a9

(3) 11 ¥ 16 a9

4) 8 § 10 T

Frefifad & & @991 & g &
frares gdierr &1 SR 78 ® 7

(1) ST TR T

(2) HIE B A [SoNET TUHT
(3) 9 O/ ghET

(4) U TAIST e

S g & FgER S== oy
1§ o T faehied Y & ?

(1) 63 8a9
(2) 89 1099
(3) 78 9a9
4) 119 1499

21. I8 8 ®a1 o1 & ‘U AR SOl

U F gREAE B & Riom d
I B9 G R e T g ?
(1) T (2) feawEts
(3) b (4) A

Level-2/201

[Z]

GET IT ON
Google Play

[A]

Out of the following which one

characteristic not suits to gifted

children ?

(1) Learn rapidly and easily.

(2) Perform difficult mental task.

(3) Knows about many things of
which most of the students are
unaware.

(4) Much drill is required to retain
what he/she has heard or read.

What is the age range of puberty
stage ?

(1) 10 to 12 years

(2) 6 to 12 years

(3) 11 to 16 years

(4) 8 to 10 years

Out of the following which one is
not the type of performance test of
intelligence ?

(1) Army alpha test

(2) Koh's block design test

(3) The cube construction test

(4) The pass along test

According to Jean Piaget between
which age the child develops
abstract reasoning ?

(1) 6to 8 years

(2) 8to 10 years

(3) 7to 9 years

(4) 11 to 14 years

21. Who stated that "An individual is

intelligent in proportion as he is able
to carry on abstract thinking" ?

(1) Terman (2) Dearborn

(3) Buckingham (4) Calvin
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22.

= & i 8Y Haffe ged
oAl @l SEC Mepld Bl TshAT B
I PEd B 7

(1) Giafe R

(2) HidlEE Hagasiadr

(3) @iafes ==

(4) Giafe ame

23. F=fafad & @ #9-d1 @6 Tl

foe Suge 7@ & ?

(1) e aferar faene & Aaget Rafa
Ya BT

(2) fqaRial & ueei & SAX

(3) T TEEN
(4) Fem ® foar-foud

A SR g1 ghEe § fhew @
freifRa & ?

(1) 12 (2) 10
(3) 30 4) 31
25. Jferp wREE & M & w7 § R
ST ST B 7
(1) 3o Tdo UMSEH
(2) TS
(3) &d
(4) SHie

QAIREARGE qeheile B SAfIhR e
fepar o ?

(1) So Fo TIETEA

(2) So TFo HIRA

(3) 3o dlo TAH

(4) Sfto THo AMIX
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What is the process of releasing the
hidden emotional suffocation and
powers inside the children called ?

(1) Emotional stability
(2) Emotional sensitivity
(3) Emotional catharsis
(4) Emotional competency

Out of the following which one
activity is not suitable for satisfying
the instincts curiosity ?

(1) Awarding positions in the class
or school

(2) Answering the questions of the
students

(3) Problem solving
(4) Discussion in class

How many cards prescribed in
Rorschach Ink Block Test ?

(1) 12 (2) 10
3) 30 4) 31
Who is known as father of

Educational Psychology ?
(1) E. L. Thorndike

(2) Pestalozzi

(3) Herbart

(4) Froebel

Who invented sociometric technique ?

(1) J. E. Anderson
(2) J. L. Moreno

(3) E. B. Hurlock
(4) G.S. Marmor
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. URFEH & AIAR

i & TS
faepre @ AT SR - R ?

(1) SFMEdT §9M

(2) YedM SAM YA Hife
(3) UREH B 9™ B
(4) I T RERaT

@ B e @ Be-H
Saeq B e qRueEar SEw &Rl
S g ?

(1) raraeen

(2) SrEET

(3) fopeIaeen

(4) rereren

29. W9 HE e AU R qen R

H el T8 TR A & e S
& HY AT & T T8 IFIHT BT
e B, O 39 TER H R HE-d
SR Sl V& giekT el § 7

(1) TreTiRTeT

(2) 9&9o

(3) Sfifer e

(4) faeames

frefofeg & @ ®9-o1 @R &7
g 99 fqeR 78 B ?

(1) STt & HH

(2) qasT
(3) T I
(4) BT
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21. Which is the fourth stage of psycho-

social development of an individual
according to Erikson ?

(1) Intimacy v/s isolation

(2) Identity v/s role confusion
(3) Industry v/s inferiority

(4) Generativity v/s stagnation

According to 'Ross', which stage of
development is known as 'Pseudo
Maturity' stage ?

(1) Infancy

(2) Childhood

(3) Adolescence

(4) Adulthood

When a person tried to make his/her
thoughts and action according to
other whom he like to follow, then
this kind of activity called which
type of defence mechanism ?

(1) Identification

(2) Projection

(3) Rationalisation

(4) Displacement

30. Which one of the following is not

the common
childhood ?

(1) Depletion of Energy

speech disorder of

(2) Lisping
(3) Slurring
(4) Stuttering

Level-2/201
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31. b HEEra® G w0 R 35. =1 § § F-4 )= ‘o SuEd @

FfRTaTes e H g © ¢ i 78F 8 ?
(1) seus 2) B (1) srgaics— (2) aﬂaﬁ
(3) ted (4) T @) o @) o
so. P Ry & @R am D 7 &gﬁﬁﬁﬁmﬁwaﬁrwﬁw
(I)Wﬁ'ﬂﬁlﬂ%l ‘ (1) ‘%’EETB?EHTUTW‘TTT’%I
(2) AR gA emel @ § =) ) et @ @ o AieE ot §
(3) & Gehel & &l AEH S & % A B
(4) TR ST AT A B 3) @ A T B} oo &R A A
ST B
TR ?
(1) TRl - 37. 19 fIpeT & O 9= fRet € 7
) S5 - & (1) ofroars, 70, qad
(2) FRR, SRR, Heml
(3) foeie - &9
. . (3) THRH, STHEH, TEX
(4) g (4) foean, g, gl
34. GUE-E # e § IH-A1 A 2. i a3 gt ¥ o e
e ? .
(1) BUHTEN - BT | = ATl HI0 (1) S - o, <6,
(2) oFT - g & S A (2) STEHX - &9, a4, 7
(3) IRRT - 3 B | AR (3) T - WA, wg@, g
(4) 9gET - 9y & QS (4) #reT - B, Aggd, SfERy
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(1) ¥ it e T2 e ) 1 e TT foe @ 2 -
. S EnCRED
(2) ¥ ST AR H g St By (2) T AW & o R R -
(3) E@ & ¥_M T feee® fohar
(4) R a8t TS B (3) &= ¥ AR A9 W@ & -
SERCRER
0. ol & @ A WwEE o S (4) 95 Fe & ST G G-
Bl § IH A Hl ESh aehleR R B
G
(1) S # fes & d=r 44. 9 faew ¥ dfe-faede ogfam R ?
(2) Ul SR A=A (1) R = i + o
(3) R R @t drest BT ST T (2) onsfid=m = o + aEe
(4) ™ & AW [efrEl & &M (3) ek = + <
a1 fou a ¥ wdem el oglr ® 7 (4 T =T+
(1) gl g% & el a8 B 45. 1 & @ frm o] @ ofd W 78
(2) & oo FE F @ g %?:@
(3) foram s @ R, ' R v T AN . .
ER US|
4) W F FB Al & T
@ AR e (2) Sl §% B - 9 B S
42. AW = # I q ogET TW (3) R & TENT Ui 9 ST -
TR - P RIH HIAT
(1) 9% - 9% (4) ol BT T B - | GAA B
(2) R - Fe=ERa
(3) foega - dier
(4) 7YX - =g
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6.

Select the correct option (Phrasal
Verb) for the underlined word :

She rejected his request to take her
home.

(1) turned up
(2) turned down
(3) turned out
(4) turned off

50. Select the appropriate modal to fill

in the blank :
Trespassers ........... be punished.
(legal notice)

(1) shall (2) may
(3) should (4) ought to

9l. Choose the appropriate preposition
to fill in the blank :
What i1s the time ........... your
watch ?
(1) in (2) from
(3) by (4) on

52. Select the correct option (Phrasal

Verb) for the blank left in the
sentence :

Cholera has
(1) broken out
(2) broken down
(3) broken up

........... in this village.

[12]
3T (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
Choose the correct option to fill in 49
the blank : T
This pen is both good ........ cheap.
(1) as well as
(2) as well
(3) but only
(4) and
41. Select the appropriate preposition to 50
fill in the blank :
His hut is ......... hotel Taj.
(1) above
(2) out
(3) besides
(4) beside 5L.
Choose the correct meaning of the
underlined words :
The law and order situation will only
become worse in the state due to the
riots, if the government does not do
something right now to nip it in the 52
bud. '
(1) To plan in detail to stop a threat
(2) To destroy the problem in the
initial stage only
(3) To arrest the culprits
(4) To stop something harmful in
the initial stage

Level-2/201

(4) broken off
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53. Choose the part of the sentence
which is incorrect :

The party president made
(@)
Rakesh a M. P. candidate
(b) (c)

for the coming election.

(d)

(1) a
3) ¢

2) b
4 d

Choose the part of the sentence
which is incorrect :

He did not  keep his words
(a) (b)
to pick himup  from WTP.
(©) (d)
(1) b (2) c
(3)d 4) a

55. Choose the correct tense form to fill
in the following :

I had consulted my lawyer before I
<veveee... the complaint.

(1) did lodged (2) had lodged

(3) lodge (4) lodged

56. Choose the appropriate modal to fill
in the blank :
He ............ listen to the stories of
his Grand Ma before he slept.

(Past habit)

(1) could (2) shall
(3) would (4) might

[13]

51.
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[A]

Choose the correct meaning of the
underlined words :

The hostess broke the ice by
introducing the strangers to each
other.

(1) To make people relax with each
other

(2) To make people perplexed with
each other

(3) To serve welcome drink to the
guests

(4) To start a game of puzzle

Choose the correct tense form to fill
in the blank :

Municipality has decided to
the overhead wires.

(1) did away with

(2) do away with
(3) has done away with
(4) had done away with

99. Choose the correct option for the

following :

One who wastes a lot of money is :
(1) frugal
(3) prodigal

(2) recluse

(4) reticent

Select the appropriate modal for the
expression given :

Harish has annoyed his boss today.
He ........ be fired soon. (probability)

(2) can
(4) would

(1) may
(3) ought to

Level-2/201
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III (PART - III)

YWY 3TE (GENERAL STUDIES)

RS ARG, it ST T4 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

[dsr : e 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

6l. U dX P T=E 66 HeX g, o 39 61. The length of a wire is 66 metre,
X 9 §9Q &7 969 g 1.32 9+t then the number of circles of
a3 EJ_?]T H ger L circumference 1.'32'cm that can be
(1) 1000 2) 50 made from the wire is :

(1) 1000 (2) 50
(3) 500 (4) 5000 (3) 500 (4) 5000

62. 140 Hex I W’Eﬁ H A 62. A train 140 metre long is running at
60 fHi /aver &, 3@ 260 HeX = 60 km/hour. How much time will it
TEHH B IR B K fhawr @6 take to pass a platform 260 metre
o ? long ?

(1) 18 TFvs (2) 24 TFTS (1) 18 sec (2) 24 sec
(3) 30FFE  (4) 32 qHS (3) 30 sec (4) 32sec

63. Uh hUeT fasbar 33 HieX DUST éﬁﬁh_{ 63. A cloth merchant on selling 33 metre
11 deX #98 & fospt q % e of cloth obtains a profit equal to the
A U B AqT B, A IGH selling price of 11 metre of cloth.
qeId © - The profit percentage is :

(1) 11% (2) 22% (1) 11% (2) 22%
(3) 50% (4) 40% (3) 50% (4) 40%

64. qﬁ4g’5qm6q1%aﬁqzﬁq;ﬁq% 64. If 4 men or 6 women can do a piece
que gifeq ad & 12 B § &< of work in 12 days working 7 hours
THT § O o ad @ S ZFI?-Sl a day.1 I:Iow marlliytdgys wili it take_:ﬁ

complete a work twice as large wi
10 god 4 3 A 8w g 10 Ir)nen and 3 women v%orking
F e e R A T &Y w7 together 8 hours a day ?
(1) 6 (2) 7 (1) 6 ) 7
(3) 8 “4) 9 (3) 8 “4) 9

65. ¥ x:1+1\/§ B, A x2+2x+3 65. If x:1+1\/§ , then the value of
H IE B - x> +2x+3is:

(0 2) 1 (10 ) 1
(3) 4 4) 2 (3) 4 4) 2

Level-2/201
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66. 7 &Y oI H T[T IS BT :
CAE, HFJ, MKO, RPT, ....

(1) UTY (2) WUY
(3) vuz (4) WUZ

61. U &RFKEN A, B, C, D @1 E #, A,
B @ BieT Ak E § @1 8, C 999
@1 8, D, B & BleT & AfFT A 9
T B, @ 37§ BN g9 Bler § 7
(1) B 2) A
3) D 4) E

68. Th THEGYS & URAM 100 T B
AR SEE wh fowet 40 |9 @
SHH 8% ®
(1) 300 ¥H°  (2) 600
(3) 780 ¥ (4) 900 T’

69. o fsErg dW q T & & ¥ wedd
forsremg o s e o @ 1:3
T T A H ST 2 ;5 B 3 AW
fersrergett Y e ergur # e S,
dfe 9 fgag § d@ T &
AT 3: 8 B W ?
(1) 3:5 (2) 4:9
3)4:7 “4) 3:8

70. A § %@ ‘98 deH AU AEET B U

& U B, AT PE AT oAl afes W
B TH, A T hg UHR grag B 7

(1) =r=n 2) 3
(3) T (4) IO R

71. 9 Ao § 7 H@en S iR
135, 226, 353, 552, 739
(1) 353 (2) 226
(3) 552 (4) 739

Level-2/201
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[A]
The next term of the following letter
series will be :
CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) vUzZ 4) wuz

67. Among five persons A, B, C, D and

E, A is shorter than B but taller than
E. C is the tallest. D is shorter than B
but taller than A. Who among them
is shortest ?
(1) B
3) D

2) A
4) E

The perimeter of a rhombus is
100 cm and one of its diagonal is 40
cm. Then its area is :

(1) 300 cm® (2) 600 cm®

(3) 780 cm® (4) 900 cm?

69. Two alloys are both made up of

copper and tin. The ratio of copper
and tin in the first alloy is 1 : 3 and
in second alloy is 2 : 5. In what ratio
should two alloys be mixed, to
obtain a new alloy such that the ratio
of copper and tinbe 3 : 8 ?

(1) 3:5 (2) 4:9

3) 4:7 “4) 3:8

A said "that boy is the grandson of
my mother's husband. I have no

brother or sister." How is the boy
related to A ?

(1) Uncle
(3) Nephew

(2) Son
(4) Cousin

71. Find the wrong number in the

following series :

135, 226, 353, 552, 739
(1) 353 (2) 226
(3) 552 4) 739
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12.

eY

Z 5,000 W 12% oIS =T $f &< 9

2 9 & QERY AN T BhalG I
§ =Y B

1) 272 (2) T 84
(3) 296 4) 36
a GEa & A 520 g, A S

ﬂ?

S "e @ 4% FH B QA W
AR BA A 12% g1 Rar g, @
Wwwﬁ,ﬁwﬁ@(

BIdl G § ¢

(1) 210 (2) 240
(3) 270 (4) 300

fefafeg 9ot § 79 9©
G4T, J9R, M20P, P41N, S90L
(1) J9R (2) M20P

(3) P4IN (4) S9OL

75. T g9 F TNrE, ACE T4 TR

AT 19 B, T 3E@ A
et @ 79 55 & R, @ gE
I S ©

(1) 36139°  (2) 286

(3) 236dH°  (4) 340’

Ik Th Al 8 fHHT RO H SR
T WH JeRT 8 Ol S B, g
Tt IR Yedk 10 fedt oo ©, @t
I8 B a5 & e Rem 7 B 7
(1) ga-aferer (2) IRy

(3) STR-GRT  (4) afroT-ufvem

Level-2/201
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The difference between simple
interest and the compound interest
compounded annually at the rate of
12% per annum on ¥ 5,000 for two
years will be :

(1) T72
(3) 96

(2) % 84
4) 36

The sum of two numbers is 520. If
the bigger number is decreased by
4% and the smaller number is
increased by 12%, then the obtained
numbers are equal, then smaller

number is :
(1) 210 (2) 240
(3) 270 (4) 300

Find the wrong term of the following
series :

GAT, J9R, M20P, P4IN, S90L
(1) J9R (2) M20P
(3) P4IN (4) S90L

75. The sum of length, breadth and

depth of a cuboid is 19 cm and its
principal diagonal is 5J5 cm, then
its surface area is :

(1) 361 cm® (2) 286 cm”
(3) 236em®  (4) 340 cm’
If a person walks 8 km towards
South then turns right and walks
8 km, again turns left and walks

10 km. In which direction is he from
starting point ?

(1) East-South (2) North-East
(3) North-South (4) South-West


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

17. TSH B TH Uod H, A I T 9
153 91 B i % @ 919 N W
2, Td A TN B B HH O de T,
C, A & THsH g X B, @ C &l
fRofy gt s w2 ?
(1) 9t (2) 104t
(3) 124t (4) 134t

18. Uh A U4 B AR 2 fEdl = ®
R g8 s fRem § gea 1 fe
T & X a8 @ R gea 2
fFfl =i &, I9% 9% 98 SOX fesm
¥ gea 4 fdl @@ 31 o a8
yRfe farg & feal QX @81 & 7
(1) 5 fi (2) 6 Tt
(3) 3 fi (4) 4 Tt

79. & W = 23, STRONG = 93, @
WEAK &K ® :
(1) 40 (2) 41
(3) 43 (4) 44

80. zri%sa+i=5,a‘r9a2+ - &

3a 25a
g9 ® :
51 29
(1)? (2)?
52 39

(3)? (4)?

8l. HAfeql @@l & [GaE & @K W

‘qeguE] e SFF o & ded A
S arl 0§

(1) 11,000 3R (2) 21,000 T
(3) 31,000 & (4) 51,000 B

Level-2/201
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[A]

71. In a row of boys, A is 15th from the

left and B is fourth from the right.

There are three boys between A and
B, C is first left of A. What is the
position of C from the right ?

(1) 9th (2) 10th

(3) 12th (4) 13th

A person walks 2 km towards East
and then he turns to South and walk
1 km. Again he turns to East and
walks 2 km after that he turns to
North and walk 4 km. Now how far
is he from his starting point ?

(1) Skm (2) 6 km

(3) 3km (4) 4km

If W = 23, STRONG = 93, then
WEAK is equal to :

(1) 40 (2) 41
(3) 43 4) 44
80. If 5a+L:5, then the value of
3a
9a’ + = IS :
25a
51 29
1) — 2) —
(D 5 (2) 5
52 39
3) — 4) —
3) 5 “4) 5

81. The amount which is given to the

sports woman on the occasion of
marriage  under  'Mukhyamantri
Vivah Shagun Yojna':

(1) Rs. 11,000 (2) Rs. 21,000
(3) Rs. 31,000 (4) Rs. 51,000

P.T.O.
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1857 & T B G AGLeaH @
RSO

(1) LEER & (2) HEETR 4

(3) R | (4) FGTR A

83. ®Eq, 2021 H AN ‘3641 T

AR Tudferd AftqeER § sRarn
59 1 fhae @l e o ?

1) 13 (2) 18

(3) 21 4) 24
frfafag & § @9 efamn & Haifye
Ay 3 forg oo @ B 7

(1) dto THo =ehadil

(2) To ARo FEas

(3) S Geligar

(4) A & qaH

85. ERAMM difey oTHEHT & SRk H

STERI Bl @l ey

(i) el oTheHl & Fege & &Y
P FA ol

(i) ‘s’ STepEHt &t U B

el Fe I

(1) 399 FI9 (i) T& ©

(2) B9 FAF (i) T &

(3) & (1) WM 7 & (i) T& B
(4) A FuT T E

‘Jegdl’ HE e sRamem § et
Reg & ?

(1) Jqaq ¥

(2) S ¥

(3) &9 #

(4) FoFTE §

Level-2/201
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hero of 1857 Revolution
Abdurrahman Khan was related to :
(1) Bahadurgarh (2) Farrukhnagar

(3) Jhajjar (4) Yamunanagar

83. How many gold medals were won by

Haryana state in the '36th National

Junior  Athletics Championship',
which was held in February, 2021 ?
(1) 13 (2) 18

3) 21 4) 24

84. Who among the following was the

longest serving Governor of Haryana ?
(1) B. N. Chakraborty

(2) A.R. Kidwai

(3) Jagannath Pahadia

(4) Kaptan Singh Solanki

85. Read the following statements about

Haryana Sahitya Academy :

(1) The Chief Minister serves as the
President of the academy.

(i1) 'Harigandha' is the Magazine of
the academy.

Choose the correct code :

(1) Only statement (i) is correct

(2) Only statement (ii) is correct

(3) Neither (1) nor (ii) is correct

(4) Both the statements are correct

86. Where the 'Panchwati' pilgrimage

site is located in Haryana ?
(1) In Palwal

(2) In Ambala

(3) In Hathin

(4) In Ballabhgarh


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

81. ‘TIERT IoFE &= e B § R B 7
(1) T (2) e
(3) far (4) R

88. ERAMM &l H3l URg H AW HEH
& T ©
(1) 10 2) 12
(3) 14 (4) 06

89. Fr=ifafad & & @-@/&M-4 ™
@& /8 7

(i) W9 9 - 0 R
(il) GTEl g g STHIRYT — Hod
(iii) FET a9 g SAFARTG — FoolX

F&] FT B AT BT :
(1) %= (i) (2) (i) iR (iii)
3) (i)aﬁ'{(ii) 4) ?baa(ﬁi)

s0. feiiifem @1 gaf T :

™ =
(A) 9REq F T qed (1) AR
(B) STreicds (i) THI™
RPRGRI
(C) AR T== (iii) TR
(D) Qe & b (iv) qAd
%<
A B © @D
(1) Gy  Gi)  Gv) @)
(2) (i) (@Gv) @@ (i)
(3) Gv) G  Gi) @)
(4) (i) Gi) @G (v)

[19]

87. In which district the

GET IT ON
Google Play

[A]
'Chinkara
Breeding Centre' is situated ?

(1) Kaithal (2) Panchkula
(3) Hisar (4) Bhiwani

. The minimum number of members

in the Council of Minister of
Haryana can be :

(1) 10
3) 14

2) 12
4) 06

89. Which of the following pair/pairs

is/are true ?

(1) State Animal — Black buck

(i1) Saraswati Wild Life Sanctuary —
Kaithal

(i11) Nahar Wild Life Sanctuary —

Jhajjar

Choose the correct code :

(1) Only (i) (2) (1) and (iii)

(3) (i) and (ii)) (4) Only (iii)

90. Match the following :
Name Place
(A) Birbal's Rang (i) Narnaul
Mahal
(B) Spiritual Museum (ii) Gurugram
(C) Chor Gumbad (iii) Yamunanagar
(D) Sohna Fort (iv) Panipat
Code :
A B © @O
(M Gy @) aGv) @
() @) Gv) @ ()
3) av) ) @) @
@ i) () @@  (aGv)

Level-2/201
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AR - IV (PART - IV)
& (HINDI)
3% : R g7 % a7 7 & [ @98 SfEa [Awey g

1. Tl B I W g&F I Q -
(1) drer
(2) fafftenr
(3) ggam
4) farss

o2. i & & v o @ D -

(1) &1
(2) e
(3) 39

(4) J&

93. ‘SOT-RS I=-JH H 7@ I W ©

(1) Ye-ger
(2) geI-4
(3) HER-AYC

(4) AIC-HAR

Level-2/201

94.

‘FISH B dl dEEiE & fo
el 9= B

(1) erfteq
(2) STIHLEH

(3) STgear
(4) ergHfey

‘T B AR T e H B 7
(1) ==
(2) HET
(3) A
(4) Rt

96. Jo fIsgy gaE M 7 S

TR B A B
(1) S e
(2) S 1A
(3) e et

(4) T BIC
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91. FHfofag & @ *H-T1 FE FGT

eY

g7

(1) % $F, Y T T o 2
(2) T g7, N Ud Wl S B
(3) T gy, SN W S ol B
(4) T gfeq, 9y wd e &e B

B I8 Uik fohw #fg & deg § 7§ ?

(1) Irgea
(2) ©E
(3) X
(4) AT

g T 4 #3 w = gd @
e 78§ ?

(1) Trds, e
(2) onfee, o
(3) wfean, &t

(4) AT, 370
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100.

=1
(=]
[

[
N
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[A]
Frefifad & & @9-ar fadm-g=
g7
(1) I&-3Tgre
(2) THH-gdH
(3) STS-SHIE
(4) TEg-gaq
g fobeg ¥ RO @ SN WEAE®
G 8 °?
(1) dfems
(2) =eR
(3) TEE
(4) g0

I A d G99 B o7gad HAF
2

(1) JH He USETHS Qo #
e 2

(2) SN HE B YEE W
2l

(3) YN HF H HAME @iedl @
AT B3 B

(4) SN HeE % UE e
A SR AMaaR S & 2
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103.

[
(=]

[
[5}]

= |V

fre fameq & ek @ WA @@t @ ?

(1) S R /S - T Gohe B

(2) ST & AR YT - ST @ S
T STl

(3) BIY-Ula ARAT - STII-fa
AT

(4) T T IAAT - 990 7 <A

frfoiea & 9 69 faees & ool 9=
‘T 2 ?

(1) &=, 98, 9Bl

(2) HY, @, &l

(3) T, i, U
(4) gem, g, qErg

frafafag & @ 59 a9 § ‘St
fpor 78T B ?

(1) 99% g% W g @ A
(2) TR TEUSH S5 T
(3) JerdIerd St S R o

(4) T8 dE ¥ aT W B
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106. ‘FHOIYFTE & FArEehel TET X SAEMRT

bt

yeg FF ©
(1) g
(2) AT
(3) I 4
(4) Th goY 3R

fha fapes § ARl & et g
7 &

(1) 99 % 9 o® - o el R
q q 9 &, T

(2) wrél & 7 |y - & feEr @
m g gu @
RS & S

(3) B I A - qAE HB T&dA
A d s @ g

(4) ST I g3t AR - AH-FFHT
fauir § g


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

[23] [A]

108. frfofed & & fow fobew @& @l 110. FoiEd § ¥ ofger A ®

= (1) 98 TH & M dbL I TSI
(1) &=, g, of (2) IEF 3 I T AR Tbe il
(3) GIB-IH M HIAT ATl
@, A, (4) 98 99 9 7% oM W H & I3
(3) i, TfEw, aqa Il
4) &, e, BlE 1. e & § qaeem aw e
Ty 78 © -
109. AR HIfTT
(1) e
(@) = @ () S BT S R
(2) g HdfE
(@) e (i) RrEd
(3) THET 999
(M) drwe (i) o wEE g
(4) T TR

(@) demr (iv) R geR e

I 112. F=fafed & @ a9 & age
NeR’ FTg T& 8 7
% -
(1) el X oRem I+l & forg
® @ @ (@ A

v i v (2) TEA O &, fbg I T OB

(2) i i iii iv & R . s e T 3

Gy iv i i s

@4 i v i i (4) gewe & far s et |

Level-2/201 P.T.O.
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. . 3 \’o‘ ’.?
13, T G @ T EEE B R, 115. 9 foey & gt = ‘aer’ g ¢

R, FT-AE, A S, S 1) T, 8 ¥
Td Y-S T W O 21 76

2) 9 9
YT e ©

C)R - A
(1) AR e o

(CORC - A}

(2) A & yER fgad

[
ot

g’ i # qA-919 8
(3) Sfo it (1) SeeRamar & ui &
(4) 2fo THHAR T (2) Sgar $ [6s ™ o9 Taeidr

(3) IRIMER & S SEhIST
14, 7 9T H e F “quygd R

(=]
[

T H HiA-A1 fwed gg R ? (4) T depia & iy =g
117. FHeRad ¥ 9 fhe fages § ash

(1) BR - ¥R = %78l - 3Aieh el FT For & ?

1 7T7
(2) SIS - R = HI9 - & AR

)% 9 7
3) e - AY = TF -
¥ I 3) &R T, ¢
4) ¥ - 9@ = 0@ - @9 (GO A

Level-2/201
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(1) Jo AR T e&
(2) W e

(3) T TRgT ATEd
(4) T

(=]
[

fr=ifciieg & @ e 9a% & B 78
g

(1) A FAR
(2) AT
(3) T AR

(4) o 3@ ARE Al

[
N

AR A & - ddE g &
IR § 4 g fogam &1 e
‘Aferrare’ FEaml § ?

(1) 9ee 9%

(2) 9eT dlwre
(3) AR T
(4) UAHH
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121.

[
N

[
N
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[A]

‘Ei_Q' % AT STAATd ST S %I
ST STqeTd o ooTd =g o@l 3|
TEq Ukl ST ©

(1) 9%

ORCEIEEI

(3) I

(4) TepiTeRT

W WigEET & FgAR Bl &
o Y ¢

(D) 3=

(2) 9&U=

(3) HEAR

(4) smiers gR

‘Wb’ & TG H ofFIT HAT ©
(1) Weplie STe 1 G 2

(2) AT TET B SR @ @
SERd B gl

(3) Al g 3T B Tar AR
e 7 E

(4) dEa AR iR A9y e
W MW A 2
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124. “TH TR HA H AHWG! e 7 IW
HETEN OOt &l %7 3t & Hiay 39
fgamt A @ & 3T 5, SN A,
U & X Al TE AW qrn” e
BN JEE fgadl @1 q® w9 fhd
BT H T & 7

(1) i Badl Frr

(2) Teredr aut

(3) HTE el

(4) WETY SN

[
N

99 F, & I G,
B &8 oiX i g8 T

BFH E-39@ @ gal @,
B9 T 9@ 9 A
TR Rl 6 g @ E 7

(1) Ga9a% I T
(2) AT auf
(3) Y Fedr

(4) HAT TRET
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126. F=Red § Agd o7 H I B

(1) REr & 1 #gugai | oga o

ST HiST T

HGH & YA HC G HU A

FB-FB AT

(2) gg 3

& T oo & Y], IBdE 9
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6. Answers to questions in answer sheet are to be

given by darkening complete circle using Black ball
point pen as shown below :

© @ ® ®

The answer will be treated wrong;, if it is marked, as given

below :
0 ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 3T OMR I TF T & 3ifhd H1 T IT AFYI

J
. 6 FE -G § 39 WM & [T & T @i e W 8 #X (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W& o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. T% 99 & 0 RU U =R foed § & S faecy & T OMR ST % W #ad 06 99 & & T TE & a9 @Re o

¥ T TP IR X Sifhd Y B 9% 39 S&a Tel o Gl ol (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

orepelt giafed #X 6 59 I T B AT T MW T I W FE AF NN T T el ST TS IR T |
i wm & faRed o= 71 forEh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B AFGEF T B, Fis HE A Rk § (97-gRaw o SR =% F FHE § e @ Rafy
& W) {H’ﬁ g+ W e Iueer T WI% GlTQ‘ﬂI (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

HQ‘I—W/W =% ¥ RU T wEie B TRl /el ade § swn) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

adfl F e S/ § TR w ol TeuN @ & ofoRE Rl seR i areg-aren, gd o swiiad s & afr,
YoR, MeEA B, Foaslies SUBLT A Rl SF UK & |l Bl @ S a1 IWAM HIA @ TgHI 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

TEE BT 98 TN W T&F Tl oo waw 1 (e Fo) &R Wew™ UH f@M| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

FE e AT THdEE AT AT $ O FE TRl STUAT WM A B! (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR THIEE B AT IR T 2Y B T sWER 9 W SR SERR R faer erved) wlen g T8 sreh Ak e
el 7 gAY gR SWER 9 W SWRR 7o [ A ¥ A O 6 SEN IR i T8 el & o ¥ TR qEd #o
A AT STCT OMR SR 0% & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM &0 999 59 99 W M @ ] [ @ @@ Aer § & a0 A i @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa et B SYART afstd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & U, orweEll feRlE & & T ube/Rean-fRw 7 98 & o e @ e @ Ry ee W@ sgRa
et & wf T w e A » e wd e @ BRI (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ‘[—SFFIEF[ IR TR =% Eﬁg AN T I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE T BN W, TRl F/2 Bled § [ S TN H-THAEE B oA A A1 AR AN WY 39 Ue-gRAH A A

S HEd R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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